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(20%) Insert & sequence of keys (27, 49, 17, 20, 61, 23, 92, 33) into e daie
structire that has no keys in the beginning. Depict the data structure after thase
insertions if it is {a) heap tres; (b) AVL tree; (c) 2-3 tree; (d} red-black tree.
Write the sxpression

{{fa+b) *c]* d+e)} - [f-(g*h)
as 4 tree and then express the vesult in operator prefix notation, {10%:;}
Determine a tailway network of minimal cost for the cities in the following
figure. {10%)

State the pigeonhole principle. (5%)

Give an example to explain its usage. {5%)

Consider a table of the trianguiar shape shown in the following figure, where the
columns are indexed from —n to n and the rows from 0 to n.

{a) Davige an index function that maeps & table of this shaps into & sequential
areay. (10%)

() Write a function that will generate an access table for finding the first antry of
each row of a tale of this shape within the contiguous array. Indicate what kind of
programming language you choose. (10%)
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